LIKE TERMS Part1

VOCAB:

COEFFICIENT—

VARIABLE—
EXPONENT--

TERM—a grouping of a

_6x3

, a & an

There is NO

(not always present). All of these are

together.

or in a term, and the ‘stuff’ after the

coefficient is just like a

(like .....
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Ma 8

1a 16X - X =

2a 6p - 19p =

3a 8y - 16y =

40 3t-12t =

5 19m - 15m =
6a X = 18x =

7a 9x = 18x =

ga Oyd - 4yd =
9a 2m - 2m =
10a 15mi - 5mi =
t1a DXy - 6Xy =

2
12a 3x% - 42 =

LIKE TERMS #1

ib

2h

3b

4b

5b

6b

7b

8b

9b

ixy - 12xy =

15x? - 7x? =

i2n -10n =

20a - 1ila =

5pq - 18pq =

14r - 20r =

ors- 8r® =

14y -7y =

7mn - 13mn

100 BX - 14x =

11b 1ab-4ab =

120 BY° = 14y°=

1c 16cm - 14cm =
2 Gab - 16ab =

3c 15rt - 20rt =

ac Xy - 14x%y =
sc 14m-12m =

sc 2(ab?) - 0(ab®)=
7 12abc - 2abc =
s 0p’q” - 13p°q” =
9c Oxyz - 20xyz =
10c 11xy? - Oxy? =
11c 1bcde - 5becde =

12¢ 13wy?- 6wly’=




Ma 8 LIKE TERMS #2

1a {(=3)x + 9x = tb (-12)m + 1iB5m =
- 3}{. 4 0])(‘ oY
2 (-5)%% + 8= a (~17)c + 10c =
“5xF 4 €xF or
3a (-15)y + 3y = 3 (-16)mn + 9mn =
= |5~1 + .gt{ ot
4a (-7)m + 2m = ab {-5)xyz + 18xyz =
‘7W\ ‘*"Z,M 2l
sa (~9)Xy 4+ 12xy = sb (=3)pq + 20pq =
qxj -rlZ}j o
sa (~17)abc + 1labc= eb (-13)x + 2ix =
“1Tabe vilabe o
7a (~14)r* + 29r% = 7 (~9)rt + 4rt =
Tl S 20T or
sa (-8)xyz + 8xyz = g (-17)b + 13b =
’3&32 ¥ g‘f‘jl 67
9a (-11)b® + 7b> = o (-12)r’t +8rt =
“ W3¢ T8 o
10a (-6)y%z + 9y’z = 100 (-7)cm + 18cm =
""93?’-’2%' q:j"g o
tta (=14)n + 18n = t1b (-20)abc + 20abc=

" Ha En o
12a (-17)y + 8y = 120 (-8)x%y + 14x°y =
Ty vfj W




Ma 8
1a - (-7)x =
22 3m = (-8)m =

32 14pq - (-2)pq =

s 6y - (-12)y =

sa 11t - (-2)t =

6a 14ab - (-5)ab =

7a 1632 - (=3)x? =

ga 44Xy - (-9)xy =

% 7r*-(-18)r* =

10a 4pq - (-15)pq) =

11a 9ayz - (-8)ayz =

12a 21b°- (-11)b° =

LIKE TERMS #3

1b

2b

3b

4b

5b

6b

7b

8b

Sb

3mn - (~-7mn) =

6st - (-9)st =

5gh - (-12)gh =

142y - (-8)x%y =

ows- (-15)w® =

13c* - (-6)c* =

S5abcd - (-3)abecd =

7xy - (-8)xy =

i8v - (-5)v =

100 IXyz ~ (-12)xyz =
11b 23p - (-14)p =

120 16d°r -~ (-13)d’r =




Ma 8 LIKE TERMS #4

o OX = (~7)x = 1 (-13)mn - (-7mn)=
22 (-3)m - (-8)m = 2 (-16)st - (~9)st =
3a (-14)pq - (-2)pq = 3 (~15)gh - (-12)gh=
42 (-18)y - (-12)y = w (-4)Cy - (-8)x°y =
sa (~1)t - (-2)t = 5o (-9)we- (-15)w® =
6= (~4)ab - (-5)ab = e (-13)c* - (-6)c* =
72 (~16)x* - (-3)x* = » Sabed - (-8)abed =
ga (-7)xy - (-9)xy = so 17xy - (-8)xy =

% 1.7r2 - (-18)r* = o (-14)v - (-5)v =

10a 14pq - (-15)pq) = 106 Ixyz - (-2)xyz =

112 3ayz - (-8)ayz = 1p (-23)p - (-14)p =

12a (-1)b%- (-11)b° = 126 (-6)d?r - (-3)d*r =




Ma 8

ta 16 -x=

2a p—1.9§3=

3a 8y+y=

4a 3t-12t + t=

52 9m-m =

6a FX =X = X=

72 OX + X+ 2X =

sa yd - 4yd

9a m=-12m =

10a 151 - 5i + i=

11a BXy - 6xy =

17a 3%% - 4x* =

LIKE TERMS #5

b IXYy - Xy =

» 1BX? + %% =

3b 12n-n =

a 208 + a +a=

b Bpq-pg = S
eb 14r -0r =
7% OF3- 12 =

gsb 14y -7y +y=

g, mn-13mn =

106 BX =~ X = X=

11b ab + 4ab =

12b y5 - 14y5=

1c 16Cc-¢C =
2c ab - 16ab =
3 rt-20rt =

ac XY - 14x%y =
5c 4m-m-3m=
oc 2(ab?) - (ab®)=
7c 12abc + abc =
s p’q’ - 13p°q” =
9c Xyz - 20xyz =
10c 11xy? - xy* =
11c bede - Sbede =

12c w3y2+ w3y2=

R




Ma 8 LIKE TERMS Part 2 - notes

Review:

TERM - a grouping of a ,a & an

(not always present). All of these are together.

There is NO or in aterm!!

When you add or subtract like terms, the doesn’t change. The only thing

that changes is the

In math, a or sign indicates a

Sesame Street

Examples
4x+ 3y -2x = 8c2-12c%+ 5x =
6g - 8e +2f-9g + 12f- 5 = 4x2 + 6xy - 12yX =

14abc + 7x?y - 3xy + 11 =

You can only

or

are

- —

\5

IF terms



A +/-sign indicates a like a space indicates a new word

So, when you add or subtract like terms, the doesn’t change. The only

thing that changes is the

7X+9x = -14xy - 13xy = x% + 15x2 + 3x% =
-7x%y -14x%y - 8x%y - X%y = 9abcd® + 32abcd® + 2abeds =

a) 8x+7x+3x= b) 15vr+18vr+3vr= c} -15xy-18xy-3xy=
d) -7y-6y-2y= e) -9pq-17pq-4pq= f) 2ZIm+13m=

g) 7t+8t+4t= h) 6m?+m2+3m2+m?= i) -8n-3n-11n-=

j) 6d+6d+16d= k) -14w-9w-3w-w= ) g-g-g-g-g=
m) 9p+18p+4p= n) -7y-y-4y-5y-y= 0) 5r2+29r2+r2=

p) -8-6-3-9= q) 8z+9z+21z+2z+z= r) h+3h+51h+2h=
s) 7ty + 9ty + 52ty = t} -8b-3b-5b-2b-b= u) p+p+24p=

v) 21n’m + 35n‘m = w} 8cm+ 14cm+20cm = X) -6r-r-3r-22r=

y) -42b-31b= z) -37abc -42abc-5abc-abc=




